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QUESTION 1

Which types of nodes are supported by Huawei OceanStor 9000? (Choose all that apply.)
A. P12

B. P25

C. P36

D. C36

E. C72

Correct Answer: ABCDE

QUESTION 2

Which of the following statements about Huawei 9000 big data solutions is incorrect?
A. Huawei big data storage products support InfiniBand/IOGE/GE networking modes.
B. Huawei big data storage products employ scale-out architecture.

C. Huawei big data storage products are based on the MPP DB.

D. Huawei big data storage products support dynamic storage tiering (DST).

Correct Answer: C

QUESTION 3

The CAP principle that a distributed database complies with involves three elements: consistency, availability, and
partition tolerance.

Which of the following statements about the CAP principle that a distributed database complies with are correct? (Select
three)

A. In a distributed database, a maximum of two elements can be implemented concurrently.
B. Partition tolerance is the basic requirement for a distributed database.

C. For most distributed databases oriented to web applications, the CPA design typically sacrifices consistency for high
availability.

D. Partition tolerance is the basic requirement for a traditional relational database.

Correct Answer: ABC
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QUESTION 4

Which advantages does Huawei OceanStor 9000 cluster NAS technology have over traditional NAS storage systems?
(Choose all that apply.)

A. Rapid service switchover, preventing the failure of a single node in a cluster from affecting services.
B. Multi-node clustering, load balancing, and global cache, providing excellent performance.

C. Heterogeneous SAN storage can be connected to an engine cluster.

D. Scalable scale-out engine architecture.

Correct Answer: ABD

QUESTION 5

Which of the following concepts are used in object service (compatible with Amazon S3 APIs)? (Choose all that apply.)
A. Bucket

B. Object

C. Account

D. User

Correct Answer:. ABCD
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